


Remark: The previous integral is referred to as an
"Improper' Integral.

Types of Improper
Integrals
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where a limit of integration is infinite and/or the function f has a
discontinuity on the interval.



Proper Notation/Computation

b
[ £ Goyax
a
Assume f is continuous except at x =c, where c lies in the interval
[a,b].
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The presence of the vertical asymptote is
not the only reason why this integral is

infinite.
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Similar Example
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How do we handle
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A portion of the plot of y = 1/x.
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A portion of the plot of y = 1/x".




An Important Improper Integral...
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